FORMULAS FOR REGRESSION AND HYPOTHESIS TESTING
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u-test:

1. 1-sample, two-sided: u = i—;ﬂ\/ﬁ, Ugjo = O1(1 —¢/2),
confidence interval for p: [:E — us/gﬁ, T+ ug \/Lﬁ}

2. l-sample, one-sided: u = =& /n, ue = &1 —e).
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4. 2-sample, one-sided: u = %, ue = ¢ (1 — ).
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t-test:
1. 1-sample, two-seded: t = 5”5_;” vn, t./2 is the 1 —£/2 quantile value of the ¢, _;-distribution.

confidence interval for u: [:E — ts/g\s/—%, T+t \5/—%] .

2. 1-sample, one-sided: t = %\/ﬁ, t. is the 1 — ¢ quantile value of the ¢,,_-distribution
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3. Test for independence: x? =n ) > % to be compared to the 1 — ¢ quantile value of the
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X = {(xy)| [t'(x,¥)| > t./2(f)} in the two-sided case,
X = {(x, y)‘ t'(x,y) > te(f)} in the one-sided case, where f is to be rounded to the nearest integer.



